
Sammanfattning av metoder och koncept

Metod Användnings-
område Egenskaper Konvergens, noggrannhetsordning, 

feluppskattning
Euler	
  framåt Explicit,	
  icke-­‐	
  energibevarande.	
  

Noggrannhetsordning	
  1

Euler	
  bakåt

Se	
  ovan.

Implicit,	
  icke-­‐	
  energibevarande.	
  
Noggrannhetsordning	
  1

Samma	
  som	
  ovan.	
  

Trapetsmetoden

Se	
  ovan.

Implicit,	
  energibevarande.	
  
Nogrannhetsordning	
  2

Trapetsregelen Nogrannhetsordning	
  2
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N " u(T )



Sammanfattning av metoder och koncept

Metod Användnings-
område Egenskaper Konvergens, noggrannhetsordning, 

feluppskattning
Styckvis	
  	
  interpolation

Fixpunktsmetoden Hitta	
  nollställen	
  till Linjär	
  konvergenshastighet Konvergerar	
  om

Newtons	
  metod,	
  skalär Hitta	
  nollställen	
  till Kvadratisk	
  konvergenshastighet

Newtons	
  metod,	
  system Hitta	
  nollställen	
  till Som	
  ovan.	
  

Jacobis	
  metod Lösning	
  av	
  linjärt	
  
ekvationssystem

Samma	
  konvergenskrav	
  och	
  
konvergenshastighet	
  som	
  
fixpunkt	
  

Ph (x) = u(xi )+
u(xi+1)! u(xi )

xi+1 ! xi
(x ! xi )

un+1 =g(un ),   n = 0,1, 2,…

un+1 =un !
f (un )
f '(un )

,   

n = 0,1, 2,…

un+1 =un ! J
!1(un )f (un )

n = 0,1, 2,…

x = D!1(!Mx + b ) = g(x )
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Ax = b

Ph (x) = u(xi ),  styckvis konstant

f (u) = 0

f (u) = 0


